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SECONDARY SCHOOL EXAMINATION – 2020 (ANNUAL) 

Model Set (SCIENCE)

Time : 2 Hrs. 45 Minutes         Full Marks : 80 

General Instructions :-

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give their answers in their own words 

as far as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr 

le; fn;k x;k gSA 

15 Minutes of extra time has been allotted to the candidates for 

reading the questions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS] [k.M&v vkSj [k.M&c 

This question paper is divided into two sections Section-A and 

Section-B. 

5- [k.M&v esa 48 oLrqfu"B iz’u gSaA buesa ls fdUgha 40 iz’uksa dk mÙkj nsuk gSA 

izR;sd ds fy, 1 vad fu/kkZfjr gSA budk mÙkj miyC/k djk;s x, mÙkj&i=d 

esa fn;s x;s lgh o`r dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kqu vkfn dk mÙkj iqfLrdk esa iz;ksx djuk 

euk gS] vU;Fkk ifj.kke vekU; gksxkA  

In section-A, there are 48 objective type questions; out of which 

any 40 questions are to be answered (Each questions carries 1 

marks). Darken the circle with blue/black ball pen against the 
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correct option on OMR Answer sheet provided to you. Do not use 

whitener/Liquid/Blade/Nail etc on OMR-sheet; otherwise the result 

will be invalid. 

6-  esa 22 y?kq mŸkjh; iz’u gSaA buesa 8 iz’u HkkSfrd&’kkL= ds] 7 iz’u 

jlk;u 'kkL= ds ,oa 7 iz’u tho foKku ds gSaA izR;sd fo"k; ¼HkkSfrd&’kkL=] 

jlk;u 'kkL= ,oa tho foKku½ ls pkj&pkj iz’uksa dk mŸkj nsuk gSA ¼izR;sd ds 

fy, 2 vad fu/kkZfjr gSA½] buds vfrfjDr bl [k.M esa 6 nh?kZ mÙkjh; iz’u fn;s 

x, gSa] ftlesa ls nks iz’u HkkSfrd 'kkL= ls] nks iz’u jlk;u 'kkL= ls vkSj nks 

iz’u tho foKku ls gSA HkkSfrd 'kkL= ds nh?kZ mŸkjh; iz’u ds fy, 6 vad] 

jlk;u ,oa tho foKku ds fy, ik¡p vad fu/kkZfjr gSA izR;sd fo"k; 

¼HkkSfrd&’kkL=] jlk;u 'kkL= ,oa tho foKku½ ls ,d&,d iz’u dk mŸkj nsuk 

vfuok;Z gSA 

In section-B, there are 22 short answer type questions. Out of 

these, eight questions are from Physics, seven questions are from 

Chemistry and seven questions are from Biology. Four questions 

are to be answered from each subject (Physics, Chemistry and 

Biology). Each questions carries 2 marks. Apart from this, there 

are 6 Long Answer type questions : Two questions each from 

Physics, Chemistry and Biology. Long Answer type question from 

Physics carries 6 marks and from Chemistry and Biology carries 5 

marks each. Answer of one question each from Physics, 

Chemistry and Biology is compulsory. 

7- fdlh Hkh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited. 
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8- [k.M&v esa 48 esa ls fdUgha 40 iz’uksa dk mÙkj nsuk gSA ;fn dksbZ ijh{kkFkhZ 40 

ls vf/kd iz’uksa dk mÙkj nsrk gS rks izFke 40 iz’uksa ds mÙkj dk gh ewY;kadu 

gksxkA 

In section-A, any 40 questions are to be answered out of 48 

questions. If a candidate answers more than 40 questions, then 

answers of first 40 questions will be evaluated only. 

Section A 

Objective Type Question

iz’u la[;k 1 ls 48 rd oLrqfu"B iz’u gSaA buesa ls fdUgha 40 iz’uksa dk mÙkj nsuk gSA 

izR;sd ds lkFk pkj fodYi fn, x;s gSa] ftuesa ls ,d lgh gSA vius }kjk pqus x, lgh 

fodYi dks OMR-'khV ij fpfàr djsaA ;fn dksbZ ijh{kkFkhZ 40 ls vf/kd iz’uksa dk mÙkj 

nsrk gS rks izFke 40 iz’uksa ds mÙkj dk gh ewY;kadu gksxkA   40 X 1 ¾ 40 

Questions Nos 1 to 48 are of Objective Type. Answer any 40 questions. 

Each question has four options out of which only one is correct. You have to 

mark your selected option on the OMR-Sheet. If a candidate answers more 

than 40 questions, then answers of first 40 questions will be evaluated only. 

1- izdk'k ds ijkoÙkZu ds fdrus fu;e gSa\ 

A- ,d     B- nks 

C- rhu     D- pkj 
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How many laws of reflection of light are there? 

A. One     B. Two 

C. Three    D. Four 

2- ok;q esa xeu djrh izdk’k dh ,d fdj.k ty esa frjNh izos’k djrh gSA ;g 

fdj.k 

A. vfHkyEc dh vksj >qdsxh  B- vfHkyEc ls nwj gVsxh 

C- lh/kh fudy tk;sxh  D- ijkofÙkZr gks tk,xh 

A ray of light travelling in air enters obliquely into water. The ray of 

light will 

A. Bend towards the normal B. move away from the normal 

C. move in a straight path D. be reflected 

3- fuEufyf[kr esa fdl ysal dks vilkjh ysal dgrs gSa \ 

A- mÙky ysal    B- vory ysal 

C- mÙky ysal ,oa vory ysal D- ckbQksdy ysal 

Which of the following lens is called diverging lens? 

A. Convex lens    B. Concave lens 

C. Convex lens and concave lens D. Bifocal lens 
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4- fdlh fcac dk okLrfod rFkk leku lkbt dk izfrfcEc izkIr djus ds fy;s fcac 

dks mÙky ysal ds lkeus dgk¡ j[kuk pkfg,\ 

A- ysal ds eq[; Qksdl ij   

B- ysal ds Qksdl&nwjh dh nksxquh nwjh ij 

C- vuUr ij     

D- ysal ds izdkf’kd dsUnz rFkk eq[; Qksdl ds chp 

Where should an object be placed infront of a convex lens to get a 

real image of the same size of the object? 

A. At the principal focus of the lens. 

B. At twice the focal length of the lens. 

C. At infinity 

D. Between the optical centre of the lens and its principal focus. 

5- Ekkuo us= ftl Hkkx ij fdlh oLrq dk izfrfcEc curk gS] og gS & 

A- dkWfuZ;k    B- ifjrkfjdk 

C- iqryh    D- nf̀"ViVy 

The part of human eye at which image of an object is formed is - 

A. Cornea    B. Iris 

C. Pupil    D. Retina 

6- fdlh ek/;e ds vioÙkZukad ¼½ dk eku gksrk gS 
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A-      B-  

C- Sin i x Sin r   D. Sin i + Sin r 

The value of refractive indix () of a medium is 

A.      B.  

C. Sin i x Sin r   D. Sin i + Sin r 

7- fdlh ysal ds vko)Zu dk S.I. ek=d fuEufyf[kr esa dkSu gS \ 

A- ehVj     B- lsaVhehVj 

C- feyhehVj    D- ek=d foghu 

Which of the following is the S.I. unit of magnification of any lens? 

A. metre    B. centimetre 

C. milimetre    D. Unit less 

8- rkjksa dk fVefVekuk] izdk’k ds fdl ?kVuk dks n’kkZrk gS\ 

A- izdk’k dk ijkoÙkZu   B- izdk’k dk vioÙkZu 

C- izdk’k dk izdh.kZu   D- izdk’k dk o.kZ fo{ksi.k 

Twinkling of stars are due to which phenomena of light ? 

A. Reflection of light  B. Refraction of light 

C. Scattering of light  D. Dispersion of light 

9- fdlh pkyd dk izfrjks/k fuEufyf[kr esa fdl ij fuHkZj djrk gS \ 

A-  pkyd dh yEckbZ ij  B- pkyd ds vuqizLFk dkV {ks=Qy ij 

C- pkyd ds inkFkZ dh izd`fr ij D- mi;qZDr lHkh ij 

Sin i 
Sin r 

Sin r 
Sin i 

Sin i 
Sin r 

Sin r 
Sin i 
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The resistance of a conductor depends upon which of the 

following? 

A. length of the conductor  

B. Area of cross section of the conductor 

C. On the nature of the material of the conductor   

D. All of the above 

10- fuEufyf[kr esa dkSu fo|qr~ 'kfDr dk S.I. ek=d gS\ 

A- okV     B- okV@?kaVk  

C- ,fEi;j    D- vkse 

Which of the following is the S.I. unit of electric power? 

A. watt     B. watt / hour 

C. ampere    D. ohm 

11- fo|qr~ ifjiFk esa fo|qr~ /kkjk dks ekius ds fy;s fuEufyf[kr esa fdl ;qfDr dk 

mi;ksx gksrk gS\ 

A- xSyosuksehVj    B- oksYVehVj 

C- vkehVj    D- oksYVkehVj 

Which of the following device is used to measure electric current in 

a circuit? 

A. Galvanometer   B. Voltmeter 
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C. Ammeter    D. Voltameter 

12- ¶;wt rkj ds fy;s fuEufyf[kr essa dkSu lk dFku lR; gS\ 

A. izfrjks/k rFkk xyukad nksuksa vf/kd gksrk gSA   

B- izfrjks/k de rFkk xyukad vf/kd gksrk gS 

C. izfrjks/k vf/kd rFkk xyukad de gksrk gSA 

D- izfrjks/k rFkk xyukad nksuksa de gksrk gSA 

Which of the following statement is true for a fuse wire? 

A. High resistance and high melting point. 

B. Low resistance and high melting point. 

C. High resistance and low melting point. 

D. Low resistance and low melting point. 

13- fuEufyf[kr inkFkksZa esa dkSu pqacdh; inkFkZ ugha gS\ 

A- yksgk     B- fudsy 

C- ihry    D- dksckYV 

Which of the following substance is not a magnetic material? 

A. Iron     B. Nickel 

C. Brass    D. Cobalt 

14- fdlh fo|qr~ /kkjkokgh lh/kh yach ifjukfydk ds Hkhrj pqacdh; {ks= dk eku 

A- 'kwU; gksrk gS    
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B- blds fljs dh vksj tkus ij ?kVrk gSA 

C- blds fljs dh vksj tkus ij c<+rk gSA     

D- lHkh fcanqvksa ij leku gksrk gSA 

The value of magnetic field inside a current carrying long straight 

solenoid. 

A. is zero     

B. decreases, while moving towards its ends 

C. increases, while moving towards its ends. 

D. is equal at all points. 

15- fo|qr /kkjk ds pqacdh; izHkko dk [kkst fdlus fd;k \ 

A- vksLVZM     B- ,sfEi;j 

C- cksj      D- QSjkMs 

Who discovered the Magnetic effect of electric current? 

A. Oersted     B. Ampere 

C. Bohr     D. Faraday 

16- fuEu esa ls dkSu tSoek=k ÅtkZ L=ksr dk mnkgj.k ugha gS\ 

A- ydM+h     B- xkscj xSl 

C- ukfHkdh; ÅtkZ    D- dks;yk 
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Which of the following is not an example of a bios-mass energy 

source? 

A. Wood    B. Gobar-gas 

C. Nuclear energy   D. Coal 

17- Na2SO4 + BaCl2  BaSO4 + 2NaCl 

mi;qZDr vfHkfØ;k fuEufyf[kr esa fdl izdkj dh gS\ 

A- la;kstu vfHkfØ;k   B- f}foLFkkiu vfHkfØ;k 

C- fo;kstu vfHkfØ;k   D- foLFkkiu vfHkfØ;k 

Na2SO4 + BaCl2  BaSO4 + 2NaCl 

The above reaction is an example of which of the following type? 

A. Combination reaction  B. Double displacement reaction 

C. Decomposition reaction D. Displacement reaction 

18- vEyh; o"kkZ ds ty dk pH  eku D;k gksuk pkfg;s\ 

A- 5-6     B- 5-6 ls de 

C- 5-6 ls vf/kd   D- 7-0 

What should be the pH value of acid rain water? 

A- 5-6     B. less than 5.6 

C. more than 5.6   D. 7.0 
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19- NaHCO3 ;kSfxd dk izpfyr uke fuEufyf[kr esa dkSu gS \ 

A- /kksu dk lksMk   B- csfdax lksMk 

C- fojatd pw.kZ    D- lksfM;e dkcksZusV 

Which of the following is the common name of the compound 

NaHCO3 

A. Washing Soda   B. Baking Soda 

C. Bleaching Powder  D. Sodium Carbonate 

20- vip dk mipkj djus ds fy;s buesa ls fdl vkS"kf/k dk mi;ksx gksrk gS\ 

A. ,safVck;ksfVd    B- ,sukytsfld 

C- ,sUVkflM    D- ,safVlsfIVd 

Which one of following types of medicine is used for treating 

indigestion? 

A. Antibiotic    B. Analgesic 

C. Antacid    D. Antiseptic 

21- phaVh ds Mad ,d vEy NksM+ tkrs gSa ftuds dkj.k tyu ,oa nnZ dk vuqHko 

gksrk gSA ;g vEy fuEufyf[kr esa dkSu gS\ 

A- feFksukWbd vEy   B- bZFksukWbd vEy 

C- flfVªd vEy   D- vkWDtsfyd vEy 

An ant leaves an acid which causes pain and irritation. Which one 

of the following is that acid? 
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A. Methanoic acid   B. Ethanoic acid 

C. Citric acid    D. Oxalic acid 

22- vkWDtsfyd vEy fuEufyf[kr esa fdlesa ik;k tkrk gS\ 

A- VekVj    B- larjk 

C- fljdk    D- beyh 

Oxalic acid is found in which of the following? 

A. Tomato    B. Orange 

C. Vinegar    D. Tamarind 

23- CaSO4.     H2O fuEufyf[kr esa fdl ;kSfxd dk jklk;fud lw= gS\ 

A- laxejej    B- Cyhfpax ikÅMj 

C- IykLVj vkWQ isfjl   D- ftIle 

CaSO4     H2O is the chemical formula of which of the following? 

A. Marble    B. Bleaching powder 

C. Plaster of Paris   D. Gypsum 

24- fuEufyf[kr esa dkSu lh /kkrq dejs ds rkieku ij rjy voLFkk esa ik;k tkrk 

gS\ 

A- ikjk     B- vk;ksfMu 

C- lYQj    D- dkcZu 

1 
2 

1 
2 
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Which of the following metals is found in liquid state at room 

temperature?  

A. Mercury     B. Iodine 

C. Sulphur    D. Carbon 

25- ukbVªkstu ds nks ijek.kqvksa ds chp fdrus vkca/k curs gSa\ 

A- ,d vkca/k    B- f}&vkca/k 

C- f=&vkca/k    D- buesa ls dksbZ ugha 

How many bonds are formed between two atoms of Nirogen? 

A. Single bond    B. Double bond 

C. Triple bond   D. None of these 

26- fuEufyf[kr esa ls dkSu fo|qr~ dk lqpkyd gS\ 

A- ghjk      B- xzsQkbV 

C- vk;ksfMu     D- xa/kd 

Which of the following is good conductor of electricity? 

A. Diamond     B. Graphite 

C. Iodine     D. Sulphur 

27- dkcZu ds lcls ckgjh dks’k esa bysDVªkWu dh dqy la[;k fuEufyf[kr esa D;k gksrh 

gS\ 

A- 3      B- 4 

C- 2      D- 1 



14 
 

Which of the following is the number of electrons in the outermost 

orbit of carbon? 

A. 3      B- 4 

C- 2      D- 1 

28- ,sydhu dk lkekU; lw= fuEufyf[kr esa dkSu gS\ 

A- CnH2n+2    B. CnH2n-2 

C. CnH2n    D. CnHn 

Which of the following is the general formula of an alkene? 

A. CnH2n+2    B. CnH2n-2 

C. CnH2n    D. CnHn 

29- leku vk.kfod lw= ysfdu fofHkUu lajpukvksa okys ;kSfxd fuEufyf[kr esa D;k 

dgykrs gSa \ 

A- lajpukRed lekO;o  B- ltkrh; Js.kh 

C- izfØ;kfRed lewg   D- buesa ls dksbZ ugha 

Compounds having same molecular formula but different 

structures are known as which of the following? 

A. Structural isomers  B. Homologous series 

C. Functional group  D. None of these 
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30- esUMsyhQ ds vkoÙkZ fu;e ds vuqlkj rRoksa ds xq.k/keZ  fuEufyf[kr esa fdlds 

vkoÙkZ Qyu gksrs gSa\ 

A- ijek.kq la[;kvksa ds   B- ijek.kq nzO;ekuksa ds 

C- ijek.kq vkdkj ds   D- ?kuRo ds 

According to Mendeleef periodic law, properties of elements are 

the periodic function of which of the following?  

A. Atomic number   B. Atomic mass 

C. Atomic size   D. Density 

31- vk/kqfud vkoÙkZ lkj.kh ds mnxz LraHk fuEufyf[kr esa D;k dgykrs gSa\ 

A- vkoÙkZ    B- lewg 

C- dks’k     D- buesa ls dksbZ ugha 

The vertical columns of modern periodic table are known as which 

of the following? 

A. Periods    B. Groups 

C. Shells    D. None of these 

32- vEy jkt esa lkanz HCl ,oa lkanz HNO3 dk vuqikr fuEufyf[kr esa D;k gksrk 

gS\ 

A- 1 % 1    B- 1 % 2 

C- 2 % 1    D- 3 % 1 
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Which of the following is the ratio of conc. HCl and conc. HNO3 in 

Aqua regia? 

A. 1 % 1     B- 1 % 2 

C- 2 % 1    D- 3 % 1 

33- gjs ikS/ks dgykrs gSa  & 

A- Loiks"kh    B- er̀thoh 

C- ijthoh    D- mi;qZDr lHkh 

Green plants are called as : 

A. Autotrophs   B. Saprophytes 

C. Parasites    D. All of the above 

34- NksVh vk¡r esa ik, tkus okys jlkadqj dk D;k dk;Z gS \ 

A- varxZzg.k    B- ikpu 

C- vo’kks"k.k    D- Lok¡xhdj.k 

What is the function of Villi of small intestine? 

A. Indigestion   B. Digestion 

C. Absorbtion   D. Assimilation 

35- ØsCl&pØ dh fØ;k dgk¡ gksrh gS\ 

A- dksf’kdk nzO; esa   B- ekbVksdkW.fMª;k esa  

C- xkWy~thdk; esa   D- buesa ls dksbZ ugha 
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Krebs-cycle occurs in - 

A. Cytoplasm   B. Mitochondria 

C. Golgi body   D. None of these 

36- Ikkni esa vukWDlh 'olu dk vafre mRikn gS & 

A- vehuks vEy    B- olk vEy 

C- bFkkby vYdksgy   D- buesa ls dksbZ ugha 

The end product of anaerobic respiration in plants is 

A. amino acid   B. fatty acid 

C. ethyl alcohol   D. None of these 

37- ikS/ks esa ty dk ifjogu fdlds }kjk gksrk gS \ 

A- tkbye    B- ¶yks,e 

C- A ,oa B nksuksa   D- buesa ls dksbZ ugha 

In plants, conduction of water takes place by -  

A. Xylem    B. phloem 

C. Both A and B   D. None of these 

38- [kqyk ifjogu ra= fdlesa ik;k tkrk gS \ 

A- fcYyh esa    B- euq"; esa 

C- i{kh esa    D- frryh esa 
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Open circulatory system is found in - 

A. Cat     B. Human 

C. Bird     D. Butterfly 

39- buesa ls dkSu ikni mRlthZ inkFkZ ugha gS\ 

A- VSfuu     B- jsftu 

C- ysVsDl    D- LVkpZ 

Which one of these is not a plant excretory product? 

A. tannin    B. resin 

C. latex    D. starch 

40- buesa dkSu ,ehuks vEy ds fo[kaMu ls curk gS\ 

A- CO2     B. CO 

C. NH3     D- mi;qZDr lHkh 

Which of these is formed by the decomposition of amino acid? 

A. CO2     B. CO 

C. NH3     D. All of the above 

41- buesa ls dkSu var% lzkoh xzaFkh gSa \ 

A- ;d̀r     B- ykj xzaFkh 

C- Losn xzaFkh    D- Fkk;jkbM xzaFkh 
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Which one of these is an endocrine gland ? 

A. liver     B. salivary gland 

C. sweat gland   D. thyroid gland 

42- buesa ls dkSu Qy idkus esa iz;qDr gksrk gS\ 

A- vkWfDtu     B- ftojsfyu 

C- ,fFkyhu    D- lkbVksdkbfuu 

Which of the following is used for ripening of fruits? 

A. Auxin    B. Gibberllins 

C. Ethylene    D. Cytokinin 

43- balqfyu dh deh ls dkSu&lk jksx gksrk gS\ 

A- ?ksa?kk     B- e/kqessg 

C- ,M~l     D- jrkSa/kh 

Which disease is caused by the deficiency of insulin? 

A. goitre    B. diabetes 

C. aids     D. night blindness 

44- ;hLV esa vySafxd tuu dh dkSu lh fof/k gS\ 

A- eqdqyu     B- chtk.kqtuu 

C- iqutZuu    D- buesa ls dksbZ ugha 
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Which method of asexual reproduction occurs in yeast? 

A. budding    B. sporulation 

C. regeneration   D. None of these 

45- Ekkuo esa fu"kspu dh fØ;k dgk¡ gksrh gS\ 

A- xHkkZ’k; esa    B- ;ksfu esa 

C- vaMk’k; esa    D- QSyksfi;u ufydk esa 

Where does process of fertilization takes place in humans? 

A. Uterus    B. Vagina 

C. Ovary    D. Fallopian tube 

46- vkuqoaf’kdrk ds firk dkSu dgs tkrs gSa\  

A- esaMy     B- MkfoZu 

C- ykekdZ    D- gSYMsu 

Who is known as “Father of Genetics”? 

A. Mendel    B. Darwin 

C. Lamark    D. Haldane 

47- tho&eamy esa ÅtkZ dk eq[; lzksr dkSu gS\ 

A- mRiknd    B- miHkksDrk 

C- vi?kVd    D- lw;Z 
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Which is the main source of energy in biosphere? 

A. Producer    B. Consumer 

C. Decomposer   D. Sun 

48- ^^tkfr;ksa dh mRifÙk** uked iqLrd fdlus fy[kh gS\ 

A- ykekdZ    B- MkfoZu 

C- esaMy     D- buesa ls dksbZ ugha 

Who wrote the book “Origin of species”? 

A. Lamarck    B.Darwin 

C. Mendel    D. None of these 

Section-B 

Non-Objective Type Questions 

Short Answer Type Questions 

Physics  

iz’u la[;k 1 ls 8 rd y?kq mÙkjh; iz’u gSaA buesa ls fdUgha 4 iz’uksa dk mÙkj nsaA izR;sd ds 

fy, 2 vad fu/kkZfjr gSA        (2x4=8) 

Question Nos 1 to 8 are short answer type. Answer any 4 questions. Each 

question carries 2 marks.        

1- vory niZ.k ds nks mi;ksxksa dks fy[ksaA      2 

Write two uses of concave mirror. 
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2- Okk;q esa xeu djrh izdk’k dh ,d fdj.k ty esa frjNh izos’k djrh gS rks gksus 

okys ifjorZu dks le>k;saA        2 

Explain the change, if the ray of light travels from air to water. 

3- ml ysal dh Qksdl nwjh Kkr djsa ftldh {kerk &2.0 Mk;ksIVj gSA ;g fdl 

izdkj dk ysal gS \         2 

Find the focal length of a lens having power -2.0 dioptre. What 

type of lens is it? 

4- xzg D;ksa ugha fVefVekrs gSa\ O;k[;k djsaA      2 

Planets do not twinkle, why? Explain it. 

5- fo|qr~ foHkokarj D;k gS\ bldk S.I. ek=d fy[ksaA     2 

What is electric potential difference? Write its S.I. unit? 

6- fo|qr~ VksLVjksa rFkk fo|qr~ bLrfj;ksa ds rkiu vo;o 'kq) /kkrq ds u cudj 

fdlh feJ/kkrq ds D;ksa cuk;s tkrs gSa\      2 

Why are coils of electric toasters and electric irons made of an 

alloy rather than a pure metal? 

7- fdlh fo|qr~ ifjiFk esa y?kqiFku dc gksrk gS\ ?kjsyw fo|qr~ ifjiFkksa esa vfrHkkj.k 

ls cpko ds fy;s D;k lko/kkuh cjruh pkfg;s\     2 

When does an electric short circuit occur? What precaution should 

be taken to avoid the overloading of domestic electric circuits? 

8- thok'e bZa/ku dh D;k gkfu;k¡ gSa \       2 

What are the disadvantages of fossil fuels?
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Long Answer Type Questions

iz’u la[;k 9 ls 10 nh?kZ mÙkjh; iz’u gSA buesa ls fdlh ,d dk mÙkj nsaA izR;sd ds fy, 6 

vad fu/kkZfjr gSA          6x1=6 

Question Nos 9 to 10 are Long Answer Type question. Answer either of the 

two. Each question carries 6 Marks.        

9- nh?kZ n`f"V nks"k fdls dgrs gSa\ blds D;k dkj.k gSa\ blds la’kks/ku dh fof/k dk 

lfp= o.kZu djsaA         6 

What is long sightedness (hypermetropia)? What are its causes? 

Explain the method of correcting this defect with diagram. 

10- (A) fdlh ysal ds vko)Zu ls vki D;k le>rs gSa\   3x2=6 

(B) fdlh vory ysal dh Qksdl nwjh 15 lseh gSA fcac dks ysal ls fdruh nwjh 

ij j[ksa fd blds }kjk fcac dk ysal 10 lseh nwjh ij izfrfcac cus\  

(A) What is the magnification of a lens ? 

(B) A concave lens has focal length of 15 cm. At what distance 

should the object from the lens be placed so that it forms an image 

at 10 cm from the lens?  

Chemistry 

Short Answer Type Questions 

iz’u la[;k 11 ls 17 rd y?kq mÙkjh; gSaA buesa ls fdUgha 4 iz’uksa dk mÙkj nsaA izR;sd ds 

fy;s 2 vad fu/kkZfjr gSA        2x4=8 
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Question Nos 11 to 17 are short answer type. Answer any four questions. 

Each question carries 2 marks.        

11- Å"ek{ksih ,oa Å"ek’kks"kh vfHkfØ;k D;k gS\ mnkgj.k nsaA    2 

What are exothermic and endothermic reactions? Give examples. 

12- fuEu vfHkfØ;kvksa dks iwjk dj larqfyr djsaA     2 

(a)  Na + H2O  

(b) N2 + H2  

Complete and balance the following reactions. 

(c) Na + H2O  

(d) N2 + H2  

13- csfdax lksMk ds nks mi;ksxksa dks fy[ksaA      2 

Write two uses of baking soda. 

14- ihry ,oa rk¡cs ds cÙkZuksa esa ngh ,oa [kV~Vs inkFkZ D;ksa ugha j[kus pkfg;sA 2 

Why should curd and sour substances not be kept in brass and 

copper vessels? 

15- xeZ ty dk VSad cukus esa rk¡cs dk mi;ksx gksrk gS] ijUrq] bLikr dk ughaA  

D;ksa\           2 

Why copper is used to make hot water tank but not steel? 

16- dkcZu MkbDlkbM rFkk feFksu dh bysDVªkWu fcanq lajpuk D;k gksxh\  2 
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What will be the electron dot structure of carbon dioxide and 

methane?  

17- ,d ijek.kq dk bysDVªkWfud foU;kl 2] 8] 7 gSA    1$1 ¾ 2 

bl rRo dh ijekq.k la[;k ,oa ladsr D;k gS \ 

An atom has electronic configuration 2, 8, 7 

What is the atomic number and symbol of this element? 

Long Answer Type Questions

iz’u la[;k 18 ,oa 19 nh?kZ mÙkjh; gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd ds fy;s 5 

vad fu/kkZfjr gSA          5x1=5 

Question Nos 18 and 19 are Long Answer Type. Answer either of the two. 

Each question carries 5 marks.         

18- fojatd pw.kZ dSls cuk;k tkrk gS\ vfHkfØ;k dk lehdj.k fy[ksaA fojatd pw.kZ 

ds mi;ksx crk;saA        5  

How is bleaching powder prepared? Write the equation of the 

reaction. Write the uses of bleaching powder. 

19- jklk;fud xq.k/keksZa ds vk/kkj ij /kkrqvksa ,oa v/kkrqvksa esa foHksn dhft,A    5  

Differentiate between metals and non metal on the bases of their 

chemical properties. 
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Biology 

Short Answer Type Questions 

iz’u la[;k 20 ls 26 rd y?kq mÙkjh; dksfV ds iz’u gSaA buesa ls fdUgha 4 iz’uksa dk mÙkj 

nsaA izR;sd ds fy;s 2 vad fu/kkZfjr gSA       2x4=8 

Question Nos 20 to 26 are short answer type. Answer any 4 questions. Each 

question carries 2 marks.        

20- fd.o.k D;k gS\ bldk D;k mi;ksx gS\      2 

What is fermentation? What are its uses? 

21- nkSM+rs gq, f[kykfM+;ks dh ekalisf’k;ksa esa nnZ@,saBu D;ksa gksrk gS\   2 

Why do players suffer from muscles cramp during run? 

22- yky jDr d.k vkWDlhtu okgd gSa] dSls\ 

How are Red blood corpuscles are carrier of oxygen? 

23- thok'e fdls dgrs gSa\        2 

What do you mean by fossil? 

24- vxj fdlh ikfjra= ds lkjs ekalkgkfj;ksa dks u"V dj fn;k tk, rks ml ikfjra= 

ij D;k izHkko iM+sxk\         2 

What will be the effect on an ecosystem if all the carnivorous are 

destroyed? 

25- mRiknd vkSj miHkksDrk esa D;k varj gS\      2 

What are the differences between producers and consumers? 
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26- fuEufyf[kr thoksa ds 'olu vaxksa dk uke fy[ksaA    2 

(a) eNyh 

(b) dsapqvk 

Name the respiratory organ of the following organisms – 

(a) fish 

(b) earthworm 

Long Answer Type Questions

iz’u la[;k 27 ,oa 28 nh?kZ mÙkjh; iz’u gSaA buesa ls fdlh ,d dk mÙkj nsaA izR;sd ds fy, 

5 vad fu/kkZfjr gSA          5x1=5 

Question Nos 27 and 28 are Long Answer Type questions. Answer either of 

the two. Each question carries 5 marks.        

27- usÝkWu dk ukekafdr fp= cuk;saA       5 

Draw a well labelled diagram of nephron. 

28- gesa dks;yk rFkk isVªksfy;e dk mi;ksx lko/kkuhiwoZd D;ksa djuk pkfg;s\     5 

Why should we use coal and petroleum carefully? 

 


